Abety MrRE ST — 5

% RS P o
ARHE T SRRy 1 2.23X2.9611
U ARE 1 0.90X0.45nf

HCUPH i\ﬁy/ﬂ%%ﬁﬂ 1 0.90 X 0.401f
UrmEIT = 3 0.400.40nf

FHEBOX 1 0.62X0.16nf

U ARE 1 0.64%0.35nf

THFEL IR 1 0.85X0.6211

B AR B OLREN 1 0.88%0.44nf
PE S Vi 3 0.40 X 0.40ni

BEBOX 1 0.62<0.16nf

VR ARE M 1 0.64%0.35m1

- i?ipo{%%ﬁﬂ 1 0.65%0.35nf
VRN T = 3 0.40X0.40nt

BEBOX 1 0.62<0.16nf

VR ARE M 1 0.64%0.35m1

THAEAL R 1 0.85X0.62n1

APE R BLeDIRE 1 0.88%0.44nf
PR Sl 17 Vg 3 0.40X0.40nf

FHEBOX 1 0.62X0.16nf

U ARE 1 0.64%0.35nf

THFEL IR 1 0.85X0.6211

AREVE AR BLeOPREN 1 0.88%0.44nf
YRR T = 3 0.40 X 0.40nt

BEBOX 1 0.62<0.16nf

VR ARE M 1 0.64%0.35m1

THAEAL R 1 0.85X0.6211

S ORI IR BLeDRE 1 0.88%0.44nf
PR Sl 1= 3 0.40X0.40nf

FHEBOX 1 0.62X0.16nf

U ARE 1 0.64%0.35nf

THFEL IR 1 0.85X0.6211

S\ET AP B OPREN 1 0.88%0.44nf
PE S viri=ng 3 0.40 X 0.40ni

BEBOX 1 0.62<0.16nf

VR ARE M 1 0.64%0.35m1

THAEAL R 1 0.85X0.62n1

B SRR BLeDRE 1 0.88%0.44nf
PR Sl 1= 3 0.40X0.40nf

FHEBOX 1 0.62X0.16nf

U ARE 1 0.64%0.35nf

THFEL IR 1 0.85X0.6211

B PG P IR BLeOPREN 1 0.88%0.44nf
YREIRT = 3 0.40 X 0.40nt

BEBOX 1 0.62<0.16nf




